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Big Task Due Date
Question

Complete Homework 1 on page 5 and 6

— Complete Homework 2 on page 12 -
“ Complete Homework 3 on pages 17 -

Voluntary Wider Reading: The Holderness Coast (Page 19) -

5 HPs
( ) Wider Reading: World Plastic Crisis (Page 20) -

Wider Reading: Where does your food come from<¢ (Page 21) -\-
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ENQUIRY QUESTIONS

. What is the United Kingdom?¢
What is the physical geography of the UK likee

J—

What causes weathere

What is air pressure?

What is the difference between weather and climate?
What are the LAWS of climate?

Why is the UK's weather so changeable?

® N oA WM

What ecosystems are found in the UK?e




GLOSSARY

Key term

Definition

Archipelago

An extensive group of islands

Climate

The weather conditions in an area over a long
period of time.

Condensation

Vapour being converted to a liquid

Convectional
rainfall

Alris rising due to the ground being heated by the
sun. The rising air cools. Water vapour condenses
and clouds form.

Cumulus clouds

Fluffy clouds forming when warm air rises fast.

Cumulonimbus
clouds

Formed on very hot days and are flat at the top
between the boundary of the troposphere and
stratosphere.

Evaporation

Liquid being converted to water vapour

Frontal rainfall

Where a warm air mass meets a cold one, the
warm air rises. Water vapour condenses to create
rain.

Hydrological Describes the continuous movement of water on,
Cycle above and below the surface of the Earth
Imaginary lines parallel to the equator that help
Latitude map makers to locate places with accuracy.
(Horizontal lines)
Imaginary lines parallel to the prime meridian line
Longitude that help map makers locate places with accuracy.

(Vertical lines)

Precipitation

Moisture that falls from the sky in the form of rain,
hail, sleet and snow

Relief rainfall

When wind meets mountains, the air rises and cools
and condenses creating rainfall.

Stratus Clouds

Blankets of dull cloud. Form when air rises more
slowly over a wide area.

Weather
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The state of the atmosphere at a particular place

and time J




BOA. WHAT IS THE UNITED KINGDOM?

Archipelago
The British Isle Archipelago
The British Isles is an archipelago that
includes Great Britain and Ireland plus at I_ Greek _I
least 70 smaller islands. Arkhi- -pelagos
Chief seqa

The most important (chief) sea to the
Greeks was the Aegean Sea. It has lots of
islands.
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You need to learn cities and countries within the United Kingdom.

% Apply your learning, label the cities and countries
Use your knowledge of grid reference to correctly label the map below

Countries Capitals

06, 35 England 04, 36 Belfast
03, 36 Northern Ireland 05, 34 Cardiff
05, 38 Scotland 04, 35 Dublin
03, 35 The Republic of Ireland 05, 37 Edinburgh
04, 34 Wales 06, 34 London
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HOMIWORK 1

You need to learn the mountain ranges found in the United Kingdom. You should

practice on the blank map, covering the answers to test yourself.
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BQ2. WHAT IS THE PHYSICAL GEOGRAPHY OF THE UK
LIKE?

The U.K can be divided into lowland and upland
areas

Tees-exe line divides the country in two

Upland areas are formed from hard rocks in the
north and west of the UK.

Lowland areas are formed from soft rocks in the
south and east of the UK.
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B3, WHAT CAUSES WEATHER?

What causes weather: a summary

O The sun heats the Earth — but unevenly

Q Earth in turn warms the air, which rises

Q Rising air leads to wind, because air from a colder place flows in to replace it

O The Sun’s heat also causes water to evaporate, giving water vapour.

O When the airrises it cools. So the water vapour condenses, giving clouds of
water droplets. Droplets join o make larger drops, which fall as rain (or snow,
or sleet, or hailstones).

Where does weather happen?

The atmosphere - the blanket of gas
around the earth. It reaches up to 10,000
km.

Thermosphere

A A :
Maoenenhare
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Most of the gas molecules are in the lowest
layer, because they are pulled down by /
gravity. This means the air is most dense
near the surface of the earth.
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The layer closest to the surface is called the
troposphere. It is only 11 km thick. Almost
ALL of the water vapour in the atmosphere
is here.

Because it has most of the gas, the
troposphere is where most weather occurs.
Above if, there is no rain.




B3, WHAT CAUSES WEATHER?

Types of rainfall

But air rises for different reasons. So rainfall is
given different names. Let’s look at them now.

The rising air cools.
The water vapour condenses,

r1 Convectional rainfall

In this diagram, air is rising because the
ground is heating it.

It rises as currents of warm air.
We call these convection currents.
So we call the rain convectional rainfall.

In the UK we get convectional rainfall inland
in summer, where the ground gets hottest,
away from the cooling effect of the sea.

o

Clouds form. It rains.

Currents of
warm air rise.

The Sun warms the
ground ... which then
warms the air above it.

r2; Relief rainfall
Wind is just moving air.

When the wind meets a Iine of high hills
or mountains, there’s only one way t

~ go - up! So the air rises and cools, and
we get rain, We call it relief rainfall.
In the UK the prevailing wind is a moist
south west wind from the Atlantic.
So we get lots of relief rainfall on the
high land on the west coast.

The rising air cools. The
water vapour condenses,
Clouds form, It rains.

P The airis
forced to rise.

Warm moist air arrives
from the Atlantic Ocean.

The rain falls on the
windward side of

the mountain. The
leeward side stays dry.

| see in Unit 5.6, huge blocks of air
ir masses move around Earth.

warm air mass meets a cold
arm air rises. |ts water vapour

infall.

ses can travel anywhere. So frontal
Il can fall anywhere. It is the most
n type of rainfall in the UK.

The rising air cools. The
water vapour condenses.
Clouds form. It rains.

The warm air mass slides
up over the cold one, or
gets pushed up by it.

A warm air mass
meets a cold air mass.
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BG4, WHAT IS AIR PRESSURL?

x:

warm A..-¢¢ Cold Air T T

/HIGH\ A oW

® Cooler air sinks down. ® Airis forced to rise

: There ?s little condensation. ® (relief, frontal or convectional)
This brings clear, calm settled ® Air cools and condenses into clouds
conditions and then precipitation

. . ® Less than 101é6mb pressure
High pressure in summer: Hot and sunny

There are no clouds in the way,
oo the sun is strong. Take care
you don't get burned !

So there may be drought
in some places. :

Butinland, on very hot cloudless days,
the hot air may rise rapidly. It cools, and
tall black clouds form.

Inside these clouds, strong
currents of air whip around,
causing thunderstorms ...

Since there is no cloud to trap
the heat in, evenings can be cool.

o 4

... and thunderstorms
can lead to heavy rain,
and flooding.

e

No cloud also means the ground
gets cold at night. Water vapour
‘condenses on grass to form dew

High pressure in winter: Frost and ice
.4 RN N SR A
§ With no cloud, the ground cools fast F&8

; { at night, and cools the air aboveit. |
asa blanket. So the days @4 \Water vapour condenses and freezes §

are clear, cold, and bright.

)

4§

w1 Water vapour also condenses n
1 on dust and other particlesin
the air, giving fog. This makes

driving dangerous.

o s F

; 2T L , ; ; Pipes may burst and
i ice as the Sun goesdown. |5 357 AT IO 1 ocs may get flooded.
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BQS. WHAT IS THE DIFFERENCE BETWEEN
WIATHER AND CLIMATE?

Weather is the state of the atmosphere at a given time.

Climate is the average weather in a place. It tells you what the weather is

usually like, in an given month.

The red line shows ’rempero’rure and the Maximum London’s climate Monthly

temp (°C) rainfall (mm)

blue bars show rainfall. 25 ; =250

For May, the maximum temperature is
around 18°c (read it as X, the mid-point for 20|~
May). And May has around 50 mm of o
rainfall in total. " 5
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Mild winters
Cool summers

Cold winters
Cool summers

Dry

®  Mild winters
®  Warm summers
® Wet

Cold winters
Warm summers
([ ] Dry




( HOMIWORK 2

Try to answer all of these key knowledge questions. Then check your answers
using the answer page. These are some of the questions that will be in the
knowledge quizzes and the mid and end of unit tests.

Questions in italics are from older work.

Key knowledge question Your answer

What countries make up the United
Kingdom?e

What stretch of water separates the
U.K and France?

What is the highest peak in the United
Kingdom?e

What is the Tees-Exe line?

Which type of rainfall is most common
in the UK?

What is the geographical name for
rain (and snow) e

When are cumulonimbus clouds
formed?

What are the three types of rainfall
affecting the UK

What weather would you expectin
low pressure?

What will the weather be during high
pressure in the winter?e

What are the mountains of Northern
Africa called?

What is solar radiation?

Name the Northern Tropic
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BQG. WHAT ARE THE LAWS OF CLIMATL?

North Pole

Altitude

Latitude

The LAWS

Distance from the Sea of climate

Prevailing wind

Look at the rays labelled A. They strike an area
around the Equator. Their energy heats the
ground. Then the ground heats the air.

wensn | ook at B. These rays strike a larger area,
because Earth is curved. So there’s less energy
per square km. So it doesn’'t get as hot.

Look at C. These energy rays strike an even larger
area. It hardly warmes.

Altitude (Prevailing) Wind (Distance from) Sea
snow even
in summer!
ﬁb@g’@
Ben Nevis — 1344 3 P '
Scotland's highest Lol ©
mountain
& sea cooler than
§ land in summer
Helght above i level Prevailing wind direction Distance from the coast
Or altitude. The higher YRS For example in the UK the prevailing The sea is cooler than land in summer,
s ' s wind is from the south west. It brings and warmer in winter, So a sea breeze
The temperature falls by about water vapour from the ocean - and B o e
1°C for every 100 metres, shat means:rain! B inter]

-
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BGZ: WHY IS THE UK WEATHER SO

CHANGEABLE?

Air on the move

Some parts of the Earth are hot. Some are
cold. This causes the air to move around —
like the air in a cold room when you turn on
a heater.

Warm air always moves from a warmer
place to a colder one. So the cold airis
pushed towards the warmer place. This is
Nature's way of spreading heat around.

- may be thousands of km across

cold dry l ;

cold dry air mass

North Pole
———
2 ¥ 4 b N
N\
i \ )8
\ Equator \ /] air
ff% ’%’c\
A \ oy
\ / )
3 /;
.7’77
South Pole cold air

A Warm and cold air on the move around
Earth. Itis Nature’s way of spreading

heat.

warm damp
air mass alr mass A
e !
7N \
A &
polar ice cap warm ocean

An air mass coming from the North

Pole will be cold and dry ... cold dry weather.

... soif it moves over the UK you'll get

An air mass coming from a warm
ocean will be warm and damp ...

/
e ‘ »> |+
/ (@ warm cold
LN and damp anddry o
warm damp / X i
air mass b

... and if it moves over the UK you get

warm dampish weather,

Often, two very different air masses
will meet, and clash ...

.. and this causes sudden changes in
the weather!




BGJ: WHY IS THE UK WEATHER 80O
CHANGEABLE?

Arctic Maritime Air Mass

Polar Maritime Air Mass

‘From: Greenland / Arctic Sea
Wet, cold air brings coid
showery weather

Returning Polar Maritime

From:; Greenland / Arctic
via North Atlantic
Molst, mild and unstable air bringing
eloud and rain showers.

From: Atlantic

From: Arctic
Wet, cold air brings
SNOW In winter,

From;: Central Europe
Hot air brings dry SUmmers;
Cold air brings snow in winter.

From: North Africa

Warm, moist air brings cloud, rain and mild weather

How an air mass changes the weather

Nice dry morning.
But cool

here’s a cold air mass in your area.

the morning is cool. And there’s
high pressure, so the sky is clear.

t a warm damp air mass is on the
way. How will it affect the weather?

The warm air mass has arrived.
It slides up over the cold one.

As it rises, the air pressure falls.
So the weather gets windy.

As the rising air cools, a bank of
cloud formes. It starts to rain.

ot weather in summer,

An air mass can bring wind, rain, and a change in temperature.

It's a few hours later.

The cold air mass has moved off.
The warm air mass has taken over.

So the afternoon feels warmer.
The rain has eased off. The wind
has dropped. =
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BQ6: WHAT CCOSYSTEMS ARE FOUND IN THE
UNITED KINGDOM?

An ecosystem is a group of living organisms interacting with the non-living parts of

an environment

Temperate deciduous woodland
Latitude: 40-60
Temperature: 0C-25C

& Rainfall: 500-1,000mm/year

Elm.

Tertiary
consumer

Secondary
consumer

Primary
consumer

Energy

Producer

1. Name one tertiary consumer:

2. Name one primary consumer:

3.  Where do producers get their energy from?




HOMLWORK 3

Try to answer all of these key knowledge questions. Then check your answers
using the answer page. These are some of the questions that will be in the
knowledge quizzes and the mid and end of unit tests.

Questions in italics are from older work.

— o N

Key knowledge question

Your answer

What do we call the day to day
conditions in the atmosphere?

What two factors do we measure on a
climate graphe

What regions of the UK are the driest?

What are the 4 LAWS of climate?

From which direction does the
prevailing wind come from for the UK?

What is an air masse

When two air masses meet which type
of rainfall would you expect?

Which air mass brings warm damp
weather to the UK?e

What is an ecosystem?@

Where do producers get their energy
from?e

What is name of the most famous map
projectione

Which ocean was named for where a
titan was punished to stand?

Which regions of the UK are upland
areqs?




BQ6: WHAT CCOSYSTEMS ARE FOUND IN THE
UNITED KINGDOM?

Case study: Epping Forest, England

——

)

Epping Forest

a The remains of a 10,000 year old

forest (After the ice-age)

River Q Historically used for hunting and

Thames for resources such as wood

Q It is a Site of Special Scientific
Interest (SSSI) - Protected by law

Q Today it is mostly used for
recreation by the general
public

Temperate Deciduous
Woodland summary

—~ .
«&

|

\. o‘
- =7,
/‘
[ B |
LI B | ‘

Latitude 50-
60 north and
south

Epping Forest
NE London

L &

X

Oak, EIm E.g. Food
Temp: 0-25C and Beech web: Grass>
Rainfall: 500- broadleaf Insect>
1000mm trees native Vole> Hawk

N8
W)

Dutch Elm
Disease
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KEY KNOWLEDGE QUESTIONS

Key knowledge question

Answer

What countries make up the United
Kingdom?@

England, Scotland, Wales and N.
Ireland

What stretch of water separates the
U.K and France?

English Channel

What is the highest peak in the United
Kingdom?@

Ben Nevis, west Grampians, Scotland
44111t

What is the Tees-Exe line?2

The imaginary line that divides the UK
into upland and lowland areas

Which type of rainfall is most common
in the UK<e

Frontal rainfall

What is the geographical name for
rain (and snow)?

Precipitation

When are cumulonimbus clouds
formed?

These are formed on very hot days
and create thunderstorms.

What are the three types of rainfall
affecting the UK

Convectional rainfall, relief rainfall and
frontal rainfall

What weather would you expect in
low pressure?

Rainfall as air is rising and condensing
info clouds

What will the weather be during high
pressure in the winter?

There are no clouds so days are clear,
cold and bright, but leading to frost at
night.

What are the mountains of Northern
Africa called?

Atlas mountains

What is solar radiation?

Energy released from the sun

Name the Northern Tropic

Tropic of Cancer

What do we call the day to day
condifions in the atmosphere?

Weather

What two factors do we measure on a
climate graph?

Temperature and rainfall

What regions of the UK are the drieste

South and east
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KEY KNOWLEDGE QUESTIONS

Key knowledge question

Answer

What are the 4 LAWS of climate?

Latitude, Alfitude, prevailing wind and
distance from the sea

From which direction does the
prevailing wind come from for the UK?2

South West

What is an air mass2e

The air moves in huge blocks called air
masses. An air mass will be warm or
cold, damp or dry, depending on
where it came from.

When two air masses meet which type
of rainfall would you expect?

Frontal rainfall

Which air mass brings warm damp
weather to the UK?e

Tropical maritime

What is an ecosystem?@

A group of living organisms interacting
with the non-living parts of an
environment

Where do producers get their energy
frome

The sun

What is name of the most famous map
projectione

Mercator projection

Which ocean was named for where a
fitan was punished fo stand?

Atlantic Ocean

Which regions of the UK are upland
areqs?

North and West




